ATM.1996060100
tdef  120 linear  6z01jun1996  6hr

vars 11

u       18 0 westerly wind (m/s)       

v       18 0 southerly wind (m/s)      

w       18 0 omega (hPa/s)   p-velocity

t       18 0 air temperature (degree)  

qv      18 0 water vapor mixing ratio  

qc      18 0 cloud water mixing ratio  

psa     0 99 surface pressure (hPa)    

tpr     0 99 total precipitation(mm/day

tgb     0 99 lower groud temp. in BATS 

swt     0 99 total soil water in mm H2O

rno     0 99 accumulated infiltration  

endvars

SRF.1996060100

tdef  240 linear  3z01jun1996  3hr

vars 27

u10m    0 99 westerly  wind at 10m (m/s)         

v10m    0 99 southerly wind at 10m (m/s)         

uvdrag  0 99 surface drag stress                 

tg      0 99 ground temperature (degree)         

tlef    0 99 temperature of foliage              

t2m     0 99 air temperature at 2m (K)           

q2m     0 99 water vapor mixing ratio at 2m(kg/kg

ssw     0 99 upper layer soil water              

rsw     0 99 root zone soil water                

tpr     0 99 total precipitation (mm/day)        

evp     0 99 evapotranspiration (mm/day)         

runoff  0 99 surface runoff (mm/day)             

scv     0 99 total snow amount                   

sena    0 99 sensible heat flux (W/m2)           

flw     0 99 net infrared energy flux (W/m2)     

fsw     0 99 net absorbed solar energy flux (W/m2

flwd    0 99 downward infrared energy flux (W/m2)

sina    0 99 incident solar energy flux (W/m2)   

prcv    0 99 convective precipitation (mm/day)   

psb     0 99 surface pressure (hPa)              

zpbl    0 99 PBL layer height                    

tgmax   0 99 maximum ground temperature (K)      

tgmin   0 99 minimum ground temperature (K)      

t2max   0 99 maximum 2m air temperature (K)      

t2min   0 99 minimum 2m air temperature (K)      

w10max  0 99 maximum 10m wind speed (m/s)        

ps_min  0 99 minimum surface pressure (hPa)      

endvars

RAD.1996060100

tdef  120 linear  6z01jun1996  6hr

vars 13

cld   18 0 cloud fractional cover              

clwp  18 0 cloud liquid water path             

qrs   18 0 solar heating rate                  

qrl   18 0 longwave cooling rate               

frsa  0 99 surface absorbed solar flux         

frla  0 99 longwave cooling of surface         

clrst 0 99 clearsky total column abs solar flux

clrss 0 99 clearsky surface absorbed solar flux

clrlt 0 99 clearsky net upward LW flux at TOA  

clrls 0 99 clearsky LW cooling at surface (W/m2

solin 0 99 instantaneous incident solar (W/m2) 

sabtp 0 99 total column absorbed solar flux W/m

firtp 0 99 net upward LW flux at TOA (W/m2)    

endvars

CHE.1996050100

tdef  125 linear  0z01may1996  6hr

vars 21

trac1 18 0   tracer mix. rat  (Kg/Kg)

trac2 18 0   tracer mix. rat  (Kg/Kg)

aext8 18 0   aer mix. ext. coef      

assa8 18 0   aer mix. sin. scat. alb 

agfu8 18 0   aer mix. ass. par       

colb__tr1 0 99   columnburden inst(mg/m2)

wdlsc_tr1 0 99   wet dep lgscale(mg/m2/d)

wdcvc_tr1 0 99   wet dep convect(mg/m2/d)

sdrdp_tr1 0 99   surf dry depos.(mg/m2/d)

xgasc_tr1 0 99   chem gas conv. (mg/m2/d)

xaquc_tr1 0 99   chem aqu conv. (mg/m2/d)

emiss_tr1 0 99   surf emission  (mg/m2/d)

colb__tr2 0 99   columnburden inst(mg/m2)

wdlsc_tr2 0 99   wet dep lgscale(mg/m2/d)

wdcvc_tr2 0 99   wet dep convect(mg/m2/d)

sdrdp_tr2 0 99   surf dry depos.(mg/m2/d)

xgasc_tr2 0 99   chem gas conv. (mg/m2/d)

xaquc_tr2 0 99   chem aqu conv. (mg/m2/d)

emiss_tr2 0 99   surf emission  (mg/m2/d)

acstoarf 0 99   TOArad forcing av.(W/m2) (the clear sky top of atmosphere aerosol frocing for the visble band)
acstsrrf 0 99   SRFrad forcing av.(W/m2) (the clear sky surface aerosol forcing for the visible band)


(These variable are averaged between 2 output steps ( i.e over the past six hours if you asked for 6 hourly outputs )

endvars

OUT_HEAD

tdef 1 linear 00z01Jan2001 1mo

vars 11

head    0 99 header information        

ht      0 99 surface elevation         

htsd    0 99 surface elevation std dev 

veg2d   0 99 vegetation type in BATS   

landuse 0 99 surface landuse type      

xlat    0 99 latitude  of cross points 

xlong   0 99 longitude of cross points 

xmap    0 99 map factors of cross point

dmap    0 99 map factors of dot points 

coriol  0 99 coriol force              

mask    0 99 land/sea mask             

endvars

Dear Libin Yan,

I have done some soil moisture sensitivity runs. This involves altering the field capacity of soil moisture within the BATS scheme. There are 3 soil layers that I have been changing the content levels from wilting to saturation values and assess the model's response. I have approached it from letting the experiments being interactive as well as fixing the soil moisture content throughout my runs. Of course you can approach from the vegetation aspect as well which I am not doing at the moment.  Look for papers by Pal, Eltahir, Schar, Severnirate, Wang, Shuklar, Fan, Grimm etc. All the best.
------------

> I run regcm-dust,
> In regcm.in file
> -----------------------------------------------------------
> chtrname='DUST','DUST','DUST','DUST'
> dustbsiz  =  0.01, 1.00, 2.50, 5.00, 1.00, 2.50, 5.00,20.00,

The above line is fine. You know, the array is dimensioned 
dustbsiz(nbin,2)

so, it would be,

dustbsiz(nbin,1) 0.01, 1.00, 2.50, 5.00,
dustbsiz(nbin,2) 1.00, 2.50, 5.00,20.00

------------------
In files of ATM and SRF, precipitation is given in units of mm/day. Is it then the rate or total amount of one time step?

What should I do if I want to have total precipitation of a month (in units of mm).

If your output frequency is 6hr, 

 

For Jan, Mar, May, Jury, Agu, Oct, Dec: precipitation of a month=(ave(tpr,t=1,t=124))*31

 

For Feb: precipitation of a month=(ave(tpr,t=1,t=112 or 116))*28 (or 29)

For others:  precipitation of a month=(ave(tpr,t=1,t=120))*30

----------------

Dear all:

When you run RegCM in parallel way, please not split the domain
too much, JXP (JXP=MJX/NPROC, in regcm.param2) should be greater
than 2. Otherwise, it would cause problem and you'll get wrong
results.

For example, if you run a domain 150x128L18 (128 is the number of
points from west to east). then you cannot use 64 CPUs for
parallel RegCM computing.

Please follow the above rule before we have found a fix for this.

Best Regards,
Xunqiang Bi

------

I agree with you. It should be   kg/kg

Bi
On Wed, 4 Mar 2009, Monica Santese wrote:

> 
> Dear users,
> please should you help me to know the unit of the "Water vapor Mixing ratio" in the ATM files? The user guide indicates g/Kg but, by the comparisons with experimental data, I think that it is Kg/Kg . Is it right?

----------

> Hi, Guo:
>
> For the GHG amount, before 2008, the data for A1B/A2/B1 is about the same.
> But if you want to run the climate change experiment for the whole century
> (2000-2100), you'd better download the code at:
>
> http://www.ictp.it/~pubregcm/RegCM3/regcm_beta_20080711.tar.gz
>
> And check the GHG amount setting in BLOCKDATA001.F of this beta version.
>
> Regards,
> Bi Xunqiang
>
> On Mon, 16 Feb 2009, guogl wrote:
>
>> Dear All
>>       I am not sure about that, the data SRES default setting in 
>> BLOCKDATA001.F file after 1990
>> is A2 SRES .Please help me! Thanks!

----------

You cannot do 2*CO2 experiment by simply double the CO2 in RegCM, but using the normal CO2 NCEP or ERA40 re-analysis as ICBC. You get little effects of 2*CO2 by this way. 

 

You need the driving from a 2*CO2 GCM runs. 

 

Dear Sir
I am doing a 2*CO2 test with RegCM3, and there are several problem:

For example, I will double CO2 of 2006010100-20070101.

1) There have two ways to double CO2.

    One is changing the number in  BLOCKDATA001.F directly:

I change

 

data ((cgas(i,j),i=1,6),j=1991,2049) /  ! A2 SCENARIO 
..........................................................
2006.0, 382.97, 1871.4, 323.61, 269.39, 563.25  
 

 to
 

data ((cgas(i,j),i=1,6),j=1991,2049) /  ! A2 SCENARIO 
..........................................................
2006.0, 765.94, 1871.4, 323.61, 269.39, 563.25  
 

The other is changing the line

 

       co2vmr = cgas(2,lyear)*1.e-6

                to

                co2vmr = cgas(2,lyear)*1.e-6 * 2.

                in radini.F

 

Are both of methods right? if right, Are their  results of two methods the  same?

 

2) I have two regcm versions,one is regcm.tar.gz  and the other is regcm_beta_20080711.tar.gz .I find their BLOKDATA001.F are different.

 

A:     Their values are different. for example,

data ((cgas(i,j),i=1,6),j=1991,2049) /  ! A2 SCENARIO 
..........................................................
2006.0, 382.97, 1871.4, 323.61, 269.39, 563.25  
in regcm.tar.gz /../Main/BLOKDATA001.F
 

and 

data ((cgas(i,j),i=1,6),j=2001,2050) /  ! A2 SCENARIO 
........................................................
2006.00, 378.40,1820.60, 321.40, 269.39, 563.25, 

in  regcm_beta_20080711.tar.gz/../Main/BLOKDATA001.F

 

why?

B:  BLOKDATA001.F contains 'A1B' '20C' 'A2' 'B1' 'B2' scenarios in regcm_beta_20080711.tar.gz/../Main/.

I don't know what is the meaning of '20C SCENARIO'.

 

C:  If I want to do a CTRL test of 2006010100-2007010100 with regcm.tar.gz, Is the default value of CO2 'A2 SCENARIO' ?

 

Expect your help! Thanks!

-----------------
Hi,

    You can find the required parameters in your domain.param file. As an example:

      parameter(truelatL= 30.) is Lambert Parallel 1
      parameter(truelatH= 60.) is  Lambert Parallel 2
      parameter(clon= 11.00)   is  Lambert Meridian

Regards
Nadeem



2009/2/20 <y_xiaochun@sina.com>

 Dear All :

      I want to  couple remote sensing images to the model , as the land  land-surface processe.
 When I process the images ,I need  the Lambet Conformal Projection parameters to match the projection which the model use.

     Where can I find the model's projetion  parameters?

 

-------------

